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ADYEOTET 2 (1) Smansgy elemssEnhd sMuns HEs0 ufeund o detgn aaTuGEn
siluriégé Qanarereyd. SFsLLSae Gapul@mldda ons
sasrentiuurerfiLd eLangwns Ogfleliésayb. -

(2) Beo wdag smuy @wamar dususHGL $igsCHTYHuSHEL
vweL(h&s Geuar(hd. ULBISET euanreugh@ Guerdle uweruRiEsad.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and .pencil .to .draw
diagrams.
GOuY : Qeueilamgsnar mreg LEHamas QaramLg).

Note :  This question paper contains four parts.

@S - I/ PART - I

GILY : (i) Semensg eainss@pé@n ella welsseb. 12x1=12
(i) Can@ésuu’(Hearer premg e saiid WBaayb ghymLw aleulenar
Coipos®ss AU eflenLleenyd Caiigg erpseyib.

Note: (i) Answer all the questions.

(i1} Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

[ Higpliys / Turn over



6829 2
1. el Qoeadlar e muQumssiag aLCurgb ______ whlyenwg.
(=1) CpiréEh
() b
(@) Cpisah odeg adiseh
(F) &
Magnification of a convex lens is always :
(a) Positive
(b) Negative

(c) Either positive (or) negative

(d) Zero

2. &pssar apg elevandler Ga o Lsmellen Hlevp eramefler mrenE Gepuyb ?
(1) o Slovgey (<) B ovzey

(8) v Hengey () ‘Bygmen Hegey

In which of the following reaction, the mass number decreases by four of the
daughter nucleus ?

(a) a decay (b) Bdecay

(¢) v decay (d) neutron decay

3. fflar Hgnbd apovssamy Hleop
(1) 2 8 (@) 16 & (@) 184 () 84

The gram molecular mass of water is :

(a) 2g (b) l6g (c) 18g (d) 8g
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Spba@TLeuDQIET 618 FieussayUILTE ?
(i) SAGLmen (<) Quenden
(@) B () pedmapTeDd
Which of the following is the universal solvent ?

(a) Acetone (b) Benzene

(c) Water (d) Alcohol

IUPAC Quuilfgadliaiug g agoman®ssts Gersslu@n @ramLnd Hame
GerGarm ()

(D) =y (<) 2pu9& jfleid

@) o@ () e
The secondary suffix used in [UPAC nomenclature of an aldehyde is

(a) -ol: (b) --o0ic acid

) -al (d) -one

Bmeumpeisaiian @swb ________ Sienpset Qaremg).

(<) 3 () 4 (@) 2 (F) S
The heart of amphibians possess ) chambers.
(a) 3 (b) 4 (c) 2 (d} S
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7.

Arl sppdl @ per Qupdpg).
() USsBISHTSID

(=) e Gunanagrflurellén e s pow
(@) upsCGames granam

() ewlGLrsrar_fureldn o yps seuey

Kreb’s cycle takes place in

(a) chloroplast
(b) mitochondrial matrix
(c) stomata

(d) inner mitochondrial membrane

Bm weoar BlyLrreaser sremiu@n @b :

(i) e Sfisdlany () Qumepaars Lpenf

(@) euemt & (/) - seurs en9Seflwn

Bipolar neurons are found in :

(a) retina of eye (b) cerebral'cortex

(c) embryo (d) respirator;lr L-pith'eﬁum
.~ BT

AerGablullen efenereumed o (meureug
(1) GevGuniger (=) Qamefliguin
(@) ansCanl () dermACLrevCuniser

Syngamy results in the formation of
(a) zoospores (b} conidia

(c) zygote (d) chlamydospores
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Qurmsgs :

(1) sni&Gamon (i) afslugunrer L

(2) snifiGanmom (i) fslugwrer graw

(3) ureligOfwr (i) @eeriygds LHHCHNL
(4) LTAIGUGWN (iv) eudpp YppGHmL
(21) (1)-011), (2)-(iv), (3)-(ii), (4)-(i)

(<) (D-Gv), (2)-(iid), (3)-(), (4)-(ii)

(@) (1)-), (2)-(ii), (3)-(iv), (4)-(ii)

() (M-6v), (2)-0), (3)-(i), (4)-(iii)

Match the following :

(1) Sarcoma (i) Excessive hunger

(2) Carcinoma (i) Excessive thirst

(3) Polydipsia (ili) Connective tissue cancer
(4) Polyphagia (iv) Stomach cancer

(a) (1)-(iid), (2)-(iv), (3)-(ii), (4)-(3)
(b) (1)-(iv), (2)-(iti), (3)-(1), (4)-(ii)
(e} (1)-(), (2)-(id), (3)-(iv), (4)-(id)
(@ (1)-(iv), (2)-(), (3)-(i), (4)-(ii)

a5 Hapsélufen snypetons 9: 3 : 3 : 1 o meaundpg) ?
(1) Gfige () GD&Cs sapged
(@) enmQend) GakiEGHD (F) @OmEG semeno
9:3:3:1ratiois dueto:

(a) Segregation (b) Crossing over
(c) Independent assortment (d) Recessiveness
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GO0y : amabuab gy damssese o udssayn. olam aar 22 -&@

culLy @en graureduc aengyb Qe wser PHID aiflapauBsBuei
(=) Qamgramn (=p) J.W. gmrrr'rdu@ur'rasl'r

(®) Qurenné@ gmen (7)) afyGsr iy affled

The term Ethnobotany was coined by :

(@) Khorana (b) J.W. Harshberger

(c) Ronald Ross (d) Hugo de Vries

u@s - I / PART - II

SLLmuwns eflenLwef&seyb. 7x2=14

Note:  Answer any seven questions. Question No. 22 is Compulsory.

13.

14.

15.

16.

Hlevaod — uemupssabd. SFeT QUAESET wWTamal ?

Define inertia. Give its classification.

eurand gren e fimwonas Corenpdns ?

Why does the sky appear blue in colour ?

e sGarfl ~ euemuyssayb.

Define one Calorie.

SausT_Grm ellfufler wenun@aefler gGseid Qe enend sngys,

Mention any two applications of Avogadro’s Law.
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17. SILLTS ST@UILGD 6 (e SEaIOIUSHET TIPS,

List out the parasitic adaptations in leech.

18. WL UTSISTILING maubHmés o pob o-HULSHT wraa ?

What arc the structures involved in the prolection of brain ?

19. @arR&sLLL (e uLgder A, B, C wpgd D spdw unsriGensT B DL WITETLD

STETELD.

Identify the parts A, B, C and D in the given figure.

20. wrys Qurdleiud - cuenupsaa.

Define genetic engineering.

21. cvleg () (SPRITE) crenmncv cremen ?

What is Sprite ?

22, 2 .4 Pepaupayeniw g ePfiuas dunpeamely Jgndam @eaarealaGung
Qaafilipn Quwigs syppons sasd®s.

Calculate the amount of energy released when a radioactive substance undergoes
fusion and results in a mass defect of 2 kg.

[ dpunys / Tumn over
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28. (&) wmb prauniseie ane @b apeny aensuner H5H DprepLILpReneT

29'

30.

31.

32.

GO,
(=) peRaCandensaniu L@ snpeiadt wnene ?

(2] Name the three basic tissue sysiems in a flowering plant.

(b}  What arc the factors affecting photosynthesis ?

QrépsHen Laflsmanty L WAES.

Enumerate the functions of blood,

wapht Cslluy Si@wiysa aaany Pessy S LLLsms afsféss
Qewélenpen ?

How do rainwater harvesting structures recharge ground water ?

(=) SGamman U, gGammenL s updl el ibleugy erenen ?
() D0CrGambaet erenprey eremen ?
(a) What do you understand by the term phenotype and genotype ?

(b} What are allosomes ?

(=1) 0.01 M HNO, aegacdilen pH wdly snems.

(=) 100 8. fflev 25 4. siasmyerws sesg @ s@rsd sWUMEELLBHDG.
Sigen smrounmeflen Moy sgeisgenps anas.

(a) Calculate the pH of 0.01 M solution of HNO,.

(b) A solution is prepared by dissolving 25 g sugar in 100 g of water. Calculate
the mass percentage of solute.

l gﬂ@ﬁlq& / Turn over
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U@&H - IV / PART - IV —

L . ' i L] [ L-
Gy : SenenGE) olenn s @nd e el iafissan. Gpenauwines @L—mmaﬂm N Ix7=21
CUERITILIGYLD.

Answer all the questions. Draw dingrams whcrever ncccssary.

Note :

33. (

34.

(<2

(a)

(b)

) (i)

(i)

(1ii)

) (i)

(i)

(i)
(11)

(iii)

(1)
(i)

(1) (i)

(ii)

(111)

(<) (i)

(a)

(b)

(1i)
(11i)
(1)
(i1)
(111)

(1)

(ii)
(ii)

890 Geuliu 694 - U UIDIGHA LD,

Bése wppi> @Grm i sas o Ganassamme Blansry GaluGLDHID

Fngenons ummu@gggu@a@ gen ?

R0 Wen e mE Qe ereucunl e srgetbizener LngHTHESDS ?
S|V G|

AT CTRIDTE) eTemen ?

SAMSED L. OO TP erenen ? igen @enPlienowing unsmsle

QeweLin@aamer efleufléseyb.

State Joule’s Law of Heating.
An alloy of nickel and chromium is used as the heating element.
Why ?
How does a fuse wire protect electrical appliances ?
OR
What is a longitudinal wave ? :
What is a nuclear reactor ? Explain its essential parts with their
functions.

SIEGSL_(H eTadr — CUTLMISHEYD. |
H,SO, -6 o-drar scoulen &geﬁg, @smu_:ﬁlemanas GRS,
7w o Ml@gran G&nwm&@&gm 7LD g@@aﬂa& assa"ar}u.,“.n G&nmm&@&@m
Ben Cuwmren CoaumunBast wreney ?
(60605
e pmbd Barm eflevenasener CoumuPs55.
sEHmawnésd elleean aranpre) craen ? THSHEETH SH6.
vy auflens Gerwmsallen gGaaun weam LTSNS Fms.
Define : Atomicity.

Calculate the percentage of sulphur in H,S0,.
In what way hygroscopic substances differ from deliquescent substances.

OR
Differentiate reversible and irreversible reaction.
What is neutralization reaction ? Give an example,
Give any three characteristics of homologous series,



11 6829
35. (@) () sésrelder smaypns seflowg gram(i apmiGuona &g ?
(i) egrmu@ anmiGuren gen S EHend apriGumen eTeT SiPEEU-
u@élenmgy ?
(1ii) emonisdlen Lflarmos CaTlun@aemar eflaTéss.
SNV
() (i) e OBrd «.eren.qp. -aneu GO L G hgatley Qeul L) uwenuRémgl ?
(i) ewdflar 93BG sflwn Qsfps Qram® wesMEGsTET soiyuifl
cuanssailen Quweny eT(LGIS.
(ili) yes Gugsean ayusgse LHmb Yamsudemauden Sw aflenarayse L@@
. efené@s. |
(a) (i) Which hormone induces parthenocarpy in tomatocs ?
(i) Why is thyroid hormone referred as ‘personality hormone’ ?
(i1} Explain Lamarck’s theories of evolution.
OR
(b) (i) Which enzyme cuts DNA at specific sites ?
(i) Name two maize hybrids rich in amino-acid, lysine_s.'

(iii) Explain smoking hazards and the harmful effects of tobacco.



